BRERFR: ER RZZ/RAL: 000153 NEHRS: 2015—017

ZWFERERHWRHBARLF
XF 2015 FHEXKRXZZH LG

ARBAREESEFRAREEERENASTES, £ T8, REERICH. RSMURE
RHEKXER.

W8~ F] 2015 A P28 A RCR IR 22 HE, A Tiih 2015 45 H % RBEAS 7 FH AT o
—. Fuit 2015 FHEXBERZZHERER

PSS ES| K KIKI7

it 2015 4F 2014 4ESZFR
BER KA

JE R R AC B
|

RASIERN PP YRR T | B FIHEFRR 2 F R A A 1500 Ji 7% 1135.65 Ji 7T

— RERANEMKEKR S

() EEARTEDLRORIER A

1y 2 AF SR PR B2 5 A PR w8 2 IR SR A IR A R B 7 A /) AR A S BB SRIET
I LRl 55 AF R J SR A R IR R AR

2« ZRIFREPR A A RARNEENARN: B8, AT W80 R PR 777 55 JE
WA 6000 /570; EEALEVGH: MEREH. SISO BT, OB Wk Wi T 5.
T RTME T e BRI BRI BROUTREESUT SRR RG IR Akl B AR, 2
SRR 2SR . BEARHEEE O R BRI OS5 BERDIN AT “ =Rk —4h 7 k55
Tkl RN I 22 Rk D B 5 s JT X AN 1151 5

3 LR JE FE RS 2 A7 PR W) Sl — W A0 32 B S5 4R b

i H 2014 £ 12 A 31 H (R&Hit)
BrE R (o) 552,591,518.66
HErE (On) 162,201,455.65

T3 H

2014 £ 1-12 H CR&H 1)

RN (o)

1,479,131,480.63

A (o)

19,901,309.22

(=D BB 10 M WIEHEZ D, ZHRIT LR R, B BEIEL LS, T

ISR IR IR PR 175 0 % A
= EMBERFIEMN MR

JEAA R D SAT RAT AL AL AN S
M. 325 B3I 53 A BRI
N GRWKIT T RAEZ G N AF LT L E P RIEEZHIT N, ZHI A, RERER
7] S ARRIRIB AR AR 2 o
O3 )R ORIRTT i ik 5%, ARER 2 ®] BEAPREEE L, AR T ORAIE 2 B BT s B3k AR K
PR, ORBEIEH 2R, AT NG T Qg 55 Rt 2
1



. HYER

1y AR H & SRERAS &y ST CAF B A R AL H M — BOA W], HAEAR /NS T IREFH
BOET o AR H H RBEAS 5 U0 5 A R AR R 23 1

2. ATFMSTEF KRR EN

A 5B ERR S AR AR 2015 TR AR A MR D S0 2w H % A4
SUE R P R AR RN G I, A8 G ks AT S @ A AR, AR T RE A R JE AR R,
ARA T 2 ) S AR AR R 2

o RBAT 7 A st AT, LT AF. A, MR . AT FZAF 2015
ER PRI E AR
S KB GHNEZBER
v RN A2 AT RAIERE O RN FAT AR T A 0 R
VAR DT ARIRYE G R BRSO NR R, AR RIES R TR, AR
« RG &R RIEFRRE, Was i OARELEMERL S AR 1500 FI TG,
« ARERSE A SZHETT 4% 6%0 9 TSI A mIARELE H T4 2
v BRI TR R AR BRI A 5 AT H oA i
v G CE RO N —4E, H 201541 H 1 H& 2015 4E 12 A 31 H k.
. BEXH
AEVEN I IREH R
. B RAFE] 2015 FEFE HH ORERAE 5 ST AL 2 R
- ORERJTUE B8 B XU 2B AR EE M

FE

o o R W ey

et

W N

AR A PR =
A S
—O—h#FE=H=+H





